1. Find the tangent line to the cllipse 2% — zy -+ y? == 1 through the point (0,1).
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9. a. Find the absolute maximum and minimum value of 2Inx — z on [1, 3]. together with the location(s)
where cach is attained (if they exist).
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b. Find the absolute maximum and minimum value of =5t on [0, 2], together with the location(s) where

cach is attained (if they exist)
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c. Find the absolute maximum and minimum value of
0 =21

on [0,2], together with the location(s) where each is attained (if they exist). Hint: draw the graph first.

min @ (o,0), (x,0), 1sx&2 .

max. DNE




3. Graph the function f(z) = xe*, being sure to clearly indicate all critical points, local maximum and
minimum values, inflection points, and vertical and horizontal asymptotes.
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